)

a)
870
6 85% 58.
2 40% 1 88%
1(2)
(5 58% (44.)9 %
I V- (880

0% 20% 40% 60% 80%

........................ 58.7%

''''''''''''''''''''''''''''''' 38.9%

I R R

S R 2000

i e e e

T R

.................. 44.6%

T I e b kgl il P 43.9%

..... 12.6%

809

105



( ®8704)

0% 5% 10% 15% 20% 25% 30%

................... 18.8%

.......................................... .::::::: 24.0%

B 10.7%

704

(n=Yy04

0% 10% 20% 30% 40% 50% 60%

B 1099

0.10% ==
0.9%
..400. T ]
5.8%]- 9.9% - 19.5%
a o -]

704

106




by 29

29 28 3 78%
32 .% 26 . 9%
29
1( 2
6 73 12.0 17.7
86. 2%
6. 4% 6. 9%
I\ 29 ( K7 0)

(22, 3. 1%

(18 26 7%

(2 8, 32 4%

(2 6, 37 8%

704

107



(n=p82

n ey
k29

( 82 111 56.2

( 89 229 169405

( e6) m 65.4
( 28 395

29
682

8 27%

76 %

(5 80%

(58% 0

25.2%
18 . %

108



1 0%

8 %

6 %

40

2 %

0%

29

V-

100%

(n=162
90%

76 %5

n=155
80%

8 %0

5

%0
70%

o
29
60%

(n=309
50%

40%

L
162
X

et

e
PP

—~
n
n
-
I
<
-

30%

20%

10%

0%

4 82%

155

28

109

29

29




4 64% 3. %
29
5 08 2 85 1 88
62. 7%
2 08% 1 59%
I\ 29 ( K7 0)

(17, 2. 4%

(21, 3. o%

(38, 4820})

(32 46 4%

110

704




I V- 29
( R6 8
(687 |63 445 1.9
@y T os
(339 1_.8/ 38.1 7 32
(2100 429 0.0
29
687
8 63% 7 71%
(60. %
T (58. 0%
28 1% ,
20. &
1 51%

111



1 0%

8 %

77 %1

( nesp

100%

90%

199

6 63%

6 %

40%

2 %

0%

29

n=199
80%

6 05%

58 %7

5 61%
517 %1
5 61%
70%

IT

I A AR L aAn N E N
3 X

o« [=) R L ey
< 8 e e e ey L g oL

29
50%

( "8 0)9
7
3
3
3
3
3
3
3
3
3
3
i

40%
»
s
s
s
s
s
s
s
s
s
s

Lo
o A n A A a A A s A
N

e

30%

20%

10%

EE
ERES
LR
e
A

I\-
0%

28

112

29

V-

—~
D
[}
-
I
<
-

29



2 68% 4. %
29
4 45, 23.6 1 69.

79. 4%
7. 4% 6. 3%

I\ 29 ( K7 0)

(19, 2.7%)

(29, 4.1%)
(189, 26.8%)

(467, 66.3%)

704

113




29

( A6 B)

n

( 85) 36.9

( #9) 21700

(8719 29.3

(29) 24.1 %;; 10...?;;;;;;;

( ¥

29
685

8 27%

IT

19 .%

114

(6 67%
(66% 0

29. 4%

8 73%



143

29

V-

X
2 g
om —
—
(32]
- N °
o
8 © ° 2 !
o - - S I
© T c [Tel
= - ™
wl. ;3
S - ™ = o
[ee] ™ o 4 —
© < > —
< ° < —l
e ° T
& © x n B N e
L R,
S SEEETSTEEEE
Q R =
mEmEmrOLmn N —
SEEELLIEEEE
X
& (=]
=
@ )
< o
o
[e)]
N
X
2
o o
o
[--N
n
< X
<
-
¥ g B X
"R =1 2
o o
) ®
o
x =y
N
£
o
—
S X —
o
)
—
1
o
£

29

28

29

115



52 %3 2.9 13 .9
29
47.7 3 06.
1 87.
87. 0%
8 7% 4 3%
I\ 29 ( K7 0)

(226, 32.1%)

(92, 13.1%)

(368, 52.3%)

116

704




( r6 6)
n J
(686) ‘ 3a
@ | 272
(368) i.g >>>>>>> 39.7
(226) 11.9\\ 2%
29
686
8 63% 7 63%
1T
(68%
(6 00%
28 6% ,
27. %
1 82%

117



29

V-

10%

8 %

6 %

4 %

2%

0%

716 %3

58 %8

] 63 %8

27| 863%

.%

58 %8

6 0 %0

58 %8

n=)8o0

29

80

V-

n=77

10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

0%

182

—~

i~
I
c

—

29

7

118



